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101|R#A7 L 187 105 82| Kg |EE 1,620 972| L 2,160 1,188
102|&JE 7= L 1,927 1,927| Kg S - BIE 3,845 464
111|&EEF £ 268 268| Kg K5 - Al 1,890 297
113|RAV S 8 8| Keg FfE 3,024 1,944
114|B5EFE 155 155 Kg e 2,592 864
15[ 1= 1 1 Kg |EfE 1,080
117[1E 14 14| Kg R 3,622 378
21| bl E 328 148 180| Kg |&& 1,728 238|185 1,728 432
134[#= = 341 213 128| Kg |3 - =4 2,700 1,600 5% 2,592 1,620
137|&5E.3. < 329 223 106| Kg |BER 3,780 2,484| &R 6,508 1,188
138|Hm % 2 66 44 22| Kg |EE 1,080 FE 1,296 540
140(5 I 7 71 Ke E[A=s 28,800 13,500
147|EZ O 94 94| Kg |EE 7,564 L - i 7,560 3,500
168|BIEM AL H 296 7 289 Kg |KA% 1,728 =40 1,998 1,296
201|{Lb L 708 708| Kg X 432 216
203|/Né L 69 69| Kg FfE 281 135
205|5u8 L 103 103| Kg KI5 720 440
206| 1 625 625 Kg RI5 1,091 432
208| Mo % 173 173| Kg BiE 4,331 540
212|&FE3 Y 573 573| Kg R 2,938 1,296
251|< B %<3 82 30 52| Kg |El& 3,812 = 3,942
252|L0AEECH 67 67 Kg |8 2,916
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332|= 13 WA =EF 196 196] Kg Bl = 2,052 1,944
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356(L L& 35 35 Kg SER 1,404 1,080
357|7RE 22 22| Kg = 1,782 1,080
358|KE 30 20 10 Kg [|EHM 1,944 1,404 (=] 1,620
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70110 BA 12,096 52| 12,044 Kg |EE=E 4,547 4,508| &= 4,655 1,490
705|7=2< ¥ 176 176] Kg LA 2,970
710(2 2 AT 161 161 Kg Ko 702 522
BlEFAI L 38 38| Kg SR 2,592 574
54T AE 7 T Kg EE 1,049
755(Fd L 64 64 Kg B 926 530
56| £ 9 41 41 Kg Ko 1,168 972
7611 b BHAEL Kg & 2,700
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